TITLE:	FEDLINK TECHNICAL NOTES											
TERM:	JULY 1, 2003 thru JUNE 30, 2004	D 04	-604				4 8 5 5 3					
		Page 01				PROGRAN						
				MAGES		RINTING	<u>ل</u>	IMPRESSIONS	<u> </u>	RAPHICS	MARTIN	
	LIBRARY OF CONGRESS	BASIS OF	<u> </u>	New Jersey		n, Maryland		r, New York		ghts, Maryland	Tampa,	
	PROGRAM B552-S	AWARD	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I.	PREPRESS:											
(a)	Trim-Size United Produced from Camera Copy	l										
	per side	64	5.00	320.00	5.00	320.00	2.65	169.60	1.50	96.00	5.00	320.00
(b)	Trim-Size United Produced from Electronic File											
	per side	64	6.00	384.00	8.00	512.00	8.75	560.00	5.00	320.00	5.00	320.00
II.	PRINTING & BINDING:							***				
	Per Page											
(1)	MAKEREADY/SETUP	- 64	23.65	1,513.60	65.00	4,160.00	20.00	1,280.00	20.00	1,280.00	0.00	0.00
	RUNNING/100 COPIES		1.64	2,046.72	1.60			1,280.00		1,248.00		78,624.00
(2)		1240	1.04	2,040.72	1.00	1,990.60	1.05	1,310.40	1.00	1,246.00	65.00	70,024.00
III.	PACKING & DISTRIBUTION:	ļ										
(1)	Bulk Deliveries:											
(a)	Packing and Sealing Shipping Containers	ļ										
	per container	48	1.50	72.00	5.00	240.00	1.25	60.00	1.00	48.00	NC	0.00
(2)	Mailed Shipments -											
(a)	Affixing Address Label & Seal-o-Matic Tab on											
	Single Copies (Self-Mailers)per 100 copies	84	3.95	331.80	4.00	336.00	4.30	361.20	3.50	294.00	4.50	378.00
(b)	Affixing Address Label on Single Copy in											
<u> </u>	Kraft Envelope (Foreign Mail)per envelope	30	0.50	15.00	0.50	15.00	0.55	16.50	0.25	7.50	0.05	1.50
	Red Envelope (101cign 11an)per envelope		0.50	13.00	0.50	15.00	0.55	10.50	0.23	7.50	0.05	1.50
	CONTRACTOR TOTALS	-		64 602 12		67 570 00		#2 7E7 7A		62 202 FA		670 642 50
	CONTRACTOR TOTALS		2 222/	\$4,683.12	2 222/	\$7,579.80	0.000/	\$3,757.70	2 222/	\$3,293.50	2 222/	\$79,643.50
	DISCOUNT	ļ	0.00%	\$0.00	2.00%	\$151.60	0.25%	\$9.39	2.00%	\$65.87	0.00%	\$0.00
	DISCOUNTED TOTALS			\$4,683.12		\$7,428.20		\$3,748.31		\$3,227.63		\$79,643.50
										AWARDED		
TITLE:	FEDLINK TECHNICAL NOTES											
TERM:	JULY 1, 2003 thru JUNE 30, 2004											
LIXIII	JOET 1, 2005 tina Jone 30, 2007	Page 01	of 01			PROGRAM	1 B 5 5 2	- C				
		rage 01		LD & EUDY		PRINT	I. P. I. G		CUPPENT	CONTRACTOR:		
	LIBRARY OF CONGRESS	BACTE OF	Temple Hi			Maryland	<u> </u>	oro, Maryland	<u> </u>	GRAPHICS		
				.		<u>*</u>		.				
<u> </u>	PROGRAM B552-S	AWAKD	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST		
I.	PREPRESS:	<u> </u>										
(a)	Trim-Size United Produced from Camera Copy											
	per side	64	1.25	80.00	NC	0.00	2.00	128.00	2.00	128.00		
(b)	Trim-Size United Produced from Electronic File											
	per side	64	7.00	448.00	NC	0.00	8.00	512.00	8.00	512.00		
II.	PRINTING & BINDING:											
	Per Page	 	+				 					
(1)	MAKEREADY/SETUP	- 64	18.75	1,200.00	59.69	3,820.16	20.00	1,280.00	20.00	1,280.00		
(1)							 					
(2)	RUNNING/100 COPIES	1248	1.10	1,372.80	17.00	21,216.00	0.93	1,160.64	1.00	1,248.00	-	
III.	PACKING & DISTRIBUTION:	ļ					ļ		ļ			
(1)	Bulk Deliveries:						ļ		ļ			
(a)	Packing and Sealing Shipping Containers											
	per container	48	1.25	60.00	2.00	96.00	1.50	72.00	2.00	96.00		
(2)	Mailed Shipments -											
(a)	Affixing Address Label & Seal-o-Matic Tab on											
	Single Copies (Self-Mailers)per 100 copies	84	3.75	315.00	4.00	336.00	4.00	336.00	4.00	336.00		
(b)			5.75	513.00	7.00	550.00	7.30	555.00	7.00	350.00		
	Affiving Address Lakel on Single Convin						0.40	12.00	0.50	15.00	-	
	Affixing Address Label on Single Copy in	30	0.35	7 - 0	0.45							
	Affixing Address Label on Single Copy in Kraft Envelope (Foreign Mail)per envelope	30	0.25	7.50	0.45	13.50	0.40	12.00	0.50	13.00		
	Kraft Envelope <i>(Foreign Mail)</i> per envelope	30	0.25		0.45		0.40		0.50			
	Kraft Envelope (Foreign Mail)per envelope CONTRACTOR TOTALS	30		\$3,483.30		\$25,481.66		\$3,500.64		\$3,615.00		
	Kraft Envelope <i>(Foreign Mail)</i> per envelope	30	1.00%		0.45		5.00%		5.00%			

	FEDLINK TECHNICAL NOTES	<u> </u>										
TERM:	JULY 1, 2002 thru JUNE 30, 2003											
		Page 0:	1 of 01			<u>PROGRA</u>	M B 5 5 2	<u>. s</u>				
	LIBRARY OF CONGRESS	BASIS OF										
	PROGRAM B552-S	AWARD	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I	PREPRESS:											
(a)	Trim-Size United Produced from Camera Copy											
	per side											
(b)	Trim-Size United Produced from Electronic File											
	per side											
II	PRINTING & BINDING:											
	Per Page											
(1)	MAKEREADY/SETUP											
(1) (2)	RUNNING/100 COPIES		-									
III	PACKING & DISTRIBUTION:											
(1)	Bulk Deliveries:											
(a)	Packing and Sealing Shipping Containers											
	per container											
(2)	Mailed Shipments -											
	Affixing Address Label & Seal-o-Matic Tab on											
	Single Copies (Self-Mailers)per 100 copies											
(b)	Affixing Address Label on Single Copy in											
	Kraft Envelope (Foreign Mail)per envelope											
	CONTRACTOR TOTALS											
	DISCOUNT											
	DISCOUNTED TOTALS	T										

	FEDLINK TECHNICAL NOTES	<u> </u>										
TERM:	JULY 1, 2002 thru JUNE 30, 2003											
		Page 0:	1 of 01			<u>PROGRA</u>	M B 5 5 2	<u>. s</u>				
	LIBRARY OF CONGRESS	BASIS OF										
	PROGRAM B552-S	AWARD	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I	PREPRESS:											
(a)	Trim-Size United Produced from Camera Copy											
	per side											
(b)	Trim-Size United Produced from Electronic File											
	per side											
II	PRINTING & BINDING:											
	Per Page											
(1)	MAKEREADY/SETUP											
(1) (2)	RUNNING/100 COPIES		-									
III	PACKING & DISTRIBUTION:											
(1)	Bulk Deliveries:											
(a)	Packing and Sealing Shipping Containers											
	per container											
(2)	Mailed Shipments -											
	Affixing Address Label & Seal-o-Matic Tab on											
	Single Copies (Self-Mailers)per 100 copies											
(b)	Affixing Address Label on Single Copy in											
	Kraft Envelope (Foreign Mail)per envelope											
	CONTRACTOR TOTALS											
	DISCOUNT											
	DISCOUNTED TOTALS	T										

	FEDLINK TECHNICAL NOTES	<u> </u>										
TERM:	JULY 1, 2002 thru JUNE 30, 2003											
		Page 0	1 of 01			<u>PROGRA</u>	M B 5 5 2	<u>. s</u>				
	LIBRARY OF CONGRESS	BASIS OF										
	PROGRAM B552-S	AWARD	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I	PREPRESS:											
(a)	Trim-Size United Produced from Camera Copy											
	per side											
(b)	Trim-Size United Produced from Electronic File											
	per side											
II	PRINTING & BINDING:											
	Per Page											
(1)	MAKEREADY/SETUP											
(1) (2)	RUNNING/100 COPIES		-									
III	PACKING & DISTRIBUTION:											
(1)	Bulk Deliveries:											
(a)	Packing and Sealing Shipping Containers											
	per container											
(2)	Mailed Shipments -											
	Affixing Address Label & Seal-o-Matic Tab on											
	Single Copies (Self-Mailers)per 100 copies											
(b)	Affixing Address Label on Single Copy in											
	Kraft Envelope (Foreign Mail)per envelope											
	CONTRACTOR TOTALS											
	DISCOUNT											
	DISCOUNTED TOTALS	T										